ER AU Hin>

1=
m]
o

o 1t A = of &b A
THE L e o MR E | MSARR | oM | TiHols | F 2
A 9 27 104 109,639 | 101,627 8,012
P=pS PSR Il 3 8 28 38,397 33,529 4,868
7| x| =t 2 5 20 17,446 | 16,429 1,017
| A &kt 2 8 37 33,055 32,390 665
ol L x| 1 4 17 14,874 | 13,413 1,461
ErE X 7 Lt 1 2 2 5,866 5,866 0
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A BN
M OtFE ZWIIE Y (&Y - SAIIY/MHIE - DS
el MSAE &3 (2l E&)
2 -Z3 . S(3) - NFEANS - BES Oif &4 JIEH Husz
ZHEH 38,397,296 33,528,809 4,868,487
= 9,261,597 7,986,800 1,274,797
=4 11,995,740 12,009,518 213,778
Il 1,051,785 0 1,051,785
£ 529,898 0 529,898
& 4,500 6,000 21,500
S 15,583,776 13,526,491 2,027,285
oY El ZMDIEr & (At - SAIIY/MHTE - D& 21,001,949 18,385,032 2,616,917
= 1,273,597 13,800 1,259,797
= 11,995,740 12,009,518 A13,778
£ 529,898 0 529,898
= 7,202,714 6,361,714 841,000
HSAIE e 15,027,009 13,026,814 2,000,195
= 1,259,797 0 1,259,797
=4 11,202,500 11,190,000 12,500
= 529,898 0 529,898
= 2,034,814 1,836,814 198,000
HSAIE et X& 464,600 429,600 35,000
308 XXIEHHISOIA 464,600 429,600 35,000
01 AXHBLEES 464,600 429,600 35,000
OXSANE AERE HHX 444,600 409,600 35,000
ANEZLRZAY =X (T XIH) 87,000 0 87,000
307 QIZtolA 87,000 0 87,000
02 CIZtAAEX 87,000 0 87,000
OTSANE R+=4a5 A2 It 27,000 0 27,000
odsSANE BE 60,000 0 60,000
238 S8t MEANE #43H(31) 276,000 0 276,000
= 200,000 0 200,000
= 76,000 0 76,000
308 AHXIEtHISOIE 276,000 0 276,000
= 200,000 0 200,000
< 76,000 0 76,000
01 THXEHMBAEXS 276,000 0 276,000
O&ESAE 2stZE = e 276,000 0 276,000
= 200,000 0 200,000
3 76,000 0 76,000
28 &I SR(HSAIE)(21) 1,589,695 0 1,589,695
= 1,059,797 0 1,059,797
S 529,898 0 529,898
403 XXISHMSX=01H 1,589,695 0 1,589,695
= 1,059,797 0 1,059,797
= 529,898 0 529,898
01 RXIHMA=EE 1,589,695 0 1,589,695
©O228 HEIl SR (HSAE) 1,589,695 0 1,589,695
= 1,059,797 0 1,059,797
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S ZREHD
Hm: ObFE FRDIE SHY(AY - SAIIY/NATE - DS
SE RPN ELIIE (el a
SN - HE . G9(3) - NEAY - BAS 0l plb-LT HTimE=ET
Z 793,240 819,518 276,078
= 48,000 48,000 0
05 SI2teisa 841,240 867,518 £26,278
OYATANTOXHE SN 841,240 87,518 £26,278
z 793,240 819,518 £26,278
= 48,000 48,000 0
NEIZSXRAY =& 3,000,000 2,500,000 500,000
306 B3 3,000,000 2,500,000 500,000
01 2013 3,000,000 2,500,000 500,000
OHAZAIY B 3,000,000 2,500,000 500,000
AHOIZAOFE T} L ARSI EH (MBI Z X/ S 1,473,800 1,423,800 50,000
= 70,000 70,000 0
= 1,403,800 1,353,800 50,000
SR AR2E FEXI 524,600 474,600 50,000
2 70,000 70,000 0
= 454,600 404,600 50,000
22X A U SNSH AY =X 252,600 202,600 50,000
307 21201 246,000 196,000 50,000
10 ABISXIEE 246,000 196,000 50,000
QN AR BLHS 100,000 50,000 50,000
UR2| HE(ASIZX/CS) 15,544,785 13,353,750 2,191,035
2 7,918,000 7,903,000 15,000
] 1,051,785 0 1,051,785
= 4,500 6,000 21,500
= 6,570,500 5,444,750 1,125,750
ol rh = 1,850,985 619,200 1,231,785
| 1,061,785 0 1,051,785
= 4,500 6,000 A1,500
= 794,700 613,200 181,500
2322 2UEHY F3(22) 9,000 12,000 £3,000
= 4,500 6,000 A1,500
= 4,500 6,000 A1,500
101 @124t 9,000 12,000 £3,000
= 4,500 6,000 £1,500
= 4,500 6,000 £1,500
04 JIH2ENISES 9,000 12,000 £3,000
02322 IUHY 9,000 12,000 £3,000
= 4,500 6,000 A1,500
= 4,500 6,000 £1,500
3|2 QAEH 420,200 307,200 113,000
101 Q124 420,200 307,200 113,000
04 JIAH2ERSEA 420,200 307,200 113,000
OZBIIBOIEK 29 420,200 307,200 113,000
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2 ZHEH
FM: dXte] FE(MISX/ =S

el AHE (&2 &&)
SHN -3 . () - NIFAY - BAS Olf &4 3 Hlus2

S8 LXCIEE A (21) 1,121,785 0 1,121,785

7l 1,051,785 0 1,051,785

= 70,000 0 70,000

gizZtold 148,000 0 148,000

J| 98,000 0 98,000

= 50,000 0 50,000

IZtBAE X 148,000 0 148,000

OXHASHAXCI S (A2 ZH)AY X 148,000 0 148,000

Il 98,000 0 98,000

& 50,000 0 50,000

AXIEHHSOoIH 973,785 0 973,785

Jl 953,785 0 953,785

< 20,000 0 20,000

AUXHBAEES 973,785 0 973,785

oXgeEE A FHE (A2t K& 225,100 0 225,100

Il 205,100 0 205,100

=S 20,000 0 20,000

OXHXEHLXICIEE (AL 3H)AY X 748,685 0 748,685

Il 748,685 0 748,685

13,693,800 12,734,550 959,250

= 7,918,000 7,903,000 15,000

S 5,775,800 4,831,550 944,250

FHYEDAY =& 1,750,800 1,530,800 220,000

gIZtol A 360,000 140,000 220,000

ItFAE X 360,000 140,000 220,000

onEg 2=+J1g & 220,000 0 220,000

Az HEESTAY XIS 1,789,600 1,672,600 117,000

303 Xals 55,000 0 55,000

01 243 55,000 0 55,000

OXIZLRel & 2+AT A& 55,000 0 55,000

308 AHXIEtXISO0I& 1,634,600 1,572,600 62,000

01 AXSHBAEES 1,634,600 1,572,600 62,000

O=U tHetu HYES 2SN 50,000 0 50,000

oAz MEHZ 24 12,000 0 12,000

MEIEIIY |E(=31) 3,061,800 3,119,550 Ab7,750

= 2,906,000 2,971,000 265,000

S 155,800 148,550 7,250

307 SIZt0olA 90,000 0 90,000

= 70,000 0 70,000

& 20,000 0 20,000

02 QItBAE X 90,000 0 90,000

OAM ML (ZASEIAIR) 90,000 0 90,000

= 70,000 0 70,000
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X XH -
= S B

TR FYEZ (2 ®H)
2K -3 . A (3]H) - HBEAY - HES Oil &koH J| = Hlus2

& 20,000 0 20,000

308 AXIEHHMSOIN 2,971,800 3,119,550 A147,750

= 2,836,000 2,971,000 A 135,000

= 135,800 148,550 212,750

01 XAXHAHBAMNEES 2,971,800 3,119,550 A147,750

OAI B 957,800 1,061,550 103,750

= 919,000 1,011,000 292,000

& 38,800 50,550 211,750

O Xt &HEAS 2,014,000 2,058,000 244,000

= 1,917,000 1,960,000 243,000

& 97,000 98,000 21,000

NESSHL X2 ALY 6,411,600 6,411,600 0

= 4,932,000 4,932,000 0

& 1,479,600 1,479,600 0

307 giztolA 90,000 0 90,000

= 45,000 0 45,000

== 45,000 0 45,000

02 QI2HZAEX 90,000 0 90,000

OltSIId sS8AMY 248 90,000 0 90,000

= 45,000 0 45,000

== 45,000 0 45,000

308 AXIHHSOIN 6,301,600 6,391,600 290,000

= 4,877,000 4,922,000 245,000

& 1,424,600 1,469,600 245,000

01 XAXSHHBAEEXZ 6,301,600 6,391,600 290,000

OXNSESSHL RIS =& 6,301,600 6,391,600 290,000

= 4,877,000 4,922,000 245,000

T 1,424,600 1,469,600 245,000

AT NEEXEY X(=1) 80,000 0 80,000

= 80,000 0 80,000

308 XXIEHHISOIA 80,000 0 80,000

= 80,000 0 80,000

01 RIXISHNBAEEZ 80,000 0 80,000

O=0{2! At HYuE XA 80,000 0 80,000

= 80,000 0 80,000

s|aotg USI(SIEEXIR) 600,000 0 600,000

403 XHXISHHISAH=0|™ 600,000 0 600,000

01 XXIHHKE2EE 600,000 0 600,000

O3|20IE SHEI| A =& 600,000 0 600,000

MPES(ZHEH) (MY - SAI|G/MHPRE - DEFI) 10,535 0 10,535

BEXE 10,535 0 10,535

MIRERE BHEIZ 10,535 0 10,535

802 B+Et=J|Et 10,535 0 10,535
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